INTEGRAL TRANSFORMS, IN PARTICULAR.

An integral franstorm

$$f(x) \leftrightarrow \hat{F}(p)$$

is of the form
 $\hat{F}(p) = \int_{0}^{p} (\zeta(p,x)) f(x) dx$ (\hat{f})
 k is called the kervel
 e_x) The Laplace Transform:
 $\hat{F}(s) = \int_{0}^{\infty} e^{-st} f(t) dt = f(f(t))$
other transforms: Former, Hilbert, Hashel,
Bessel, etc.

If we now compare b
(1)
$$\hat{F}(p) = \int K(px) f(x) dx$$

to the problem $b = Ax$, and
cossider a Riemann sum approximation
to the integral (1), we can also
see that the Riemann sum Could be
considered a linear transformation of
 $f(x)$ to $F(p)$:
 $b(p_j) \approx \sum_{i=1}^{N} K(p_i, x_i) f(x_i) dx_i$
 $dx: = \chi_{ini} - \chi_i$
 $dx = \sum_{i=1}^{N} \Delta \chi_i$
 $\Delta P_i = P_i + P_i$
 $dx = \sum_{i=1}^{N} \Delta P_i$

$$\begin{aligned} & flu \quad b = A f \\ & wleve \quad b_j = b(p_j) \\ & A = (a_j i) \Delta x_i \\ & f = f(x_i) \end{aligned}$$

Focus on Fourier Transform $\hat{F}(\omega) = \frac{1}{\sqrt{2\pi}} \int_{-\infty}^{\infty} e^{-i\omega t} f(t) dt \quad (\mathbf{I})$ we write this as $\hat{F}(\omega) = \hat{F}(f(t))$ we also have the inverse transform $f(t) = f^{-1}(\hat{F}(\omega))$

$$\int (t) = \frac{1}{F(\omega)} = \frac{1}{V_{2\pi}} \int_{-\infty}^{\infty} e^{i\omega t} \hat{F}(\omega) d\omega$$

Converselate the Former Transform to
the Former Series?
Yes, shown Informally below:
Recell that for g(t) square integrable
and poindic
(t) g(t) =
$$\sum_{k=0}^{\infty} G_k e^{i\omega_k t}$$

 $k=-co$
 $g(t+T) = g(t)$
 T is the period (T=2.2)
 $\omega_k = \frac{2\pi k}{T} = \frac{\pi k}{2}$
(if the three then we has write of *Kine*, Thes
units of the p

We are called the "frequencies".
(*) caps that, for some t, a linear superposition
(of possibly) infinite orthogonal functions

$$e^{i\omega_{k}t} = \cos(\omega_{k}t) + isin(\omega_{k}t)$$

 $k = 0, \pm 1, \pm 2...$
times the (complex) welliciteits and
Groups to g at t.
We note that the distance between each
frequency ω_{k} and ω_{kn} is
casternt $\Delta \omega \equiv \omega_{kn} - \omega_{k} = \frac{2\pi}{T}$
To find the coefficients and
 $(**) = \frac{1}{T} \int_{-T/2}^{T/2} g(t) e^{i\omega_{k}t} dt$



we flen multiply this area by einst 2 Ckeiwst let T-, co then Sw=20 -> dw He distance between whe and Wki 1 beanes inhinites mally small, i.e. we get a continuem of foregrencies and OF spectral components C(w). St fle seme time we let k-> t co so $\frac{2}{2\pi} \frac{2}{2\pi} g(w_k) e^{iw_k t}$ $k = -\infty$ $\rightarrow \frac{1}{2\pi} \int_{\infty}^{\infty} g(w) e^{i\omega t} dw$



 $f(f(t)) = f(w) = \frac{1}{\sqrt{2\pi}} \int f(t) e^{-iwt} dt$ $q' \cdot (f(\omega)) = f(t) = \int_{\nabla U} \int_{T} f(\omega) e^{+i\omega t} d\omega$

In the above, though we started with Lz periodic finities, g(2) nust only be absolutely integrable (over the While real hie) to have a Forrier transform, i.e. $\int |f(t)| dt < \infty$ -00 55 f(t) is Ly function. ex) Calculate the Fourier Transform of the

Ex) Calculate the source monstored Dirac Delta Finction The Dirac Delta finetin is actually a distribution, rather than a finction.

S(x-a)



The Dirac Delta function has a Fourier Transform:

 $\int (t) = \frac{1}{2\pi} \int d\omega e^{i\omega t} \int du f(u) e^{-i\omega u}$ $= \int du f(u) \left\{ \frac{1}{2\pi} \int e^{i\omega(t-u)} dw \right\}$ Compose this expression to (7) we deduce that $\delta(t-w) = \frac{1}{2\pi} \int_{0}^{\infty} e^{iwt} e^{-iwt} dw$: + (5(t-u)) = e-iwu

Shift Theorem Eisw F(w) = 7 (f(t-a)) (chons thisby change of vericobles) ex) 7-1 (e^{-i w to} e^{-w²/4a²}) Need to know &- ((e-w)/4a2) from Teble J-1 (e-1)/4e2 = (2a2) 2e-a2t2 $f^{-1}\left(e^{-i\omega t_{0}}-\frac{\omega^{2}}{4e^{2}}\right)=(2\omega^{2})^{k_{1}}-\frac{\alpha^{2}(t-t_{0})^{2}}{4e^{2}}$ Derivatives: $\Upsilon(f^{(n)}(t)) = (i\omega)^n \ddot{\Upsilon}(f)$ $f^{(m)} \equiv \frac{d^2 f}{dt^m}$ ad $g^2(f) = g^2(f(t))$ (show this by integration by parts)

Convolution

$$h(t) = \int_{-\infty}^{t} f(t) g(t-t) dt = \int_{-\infty}^{t} g(t) f(t-t) dt$$
or

$$h(t) = f(t) * g(t)$$

$$f(h(t)) = (2\pi)^{1/2} f'(f(t)) f'(g(t))$$
or

$$f'(h(t)) = (2\pi)^{1/2} f'(h(t)) f'(g(t))$$
or

$$f'(h(t)) = (2\pi)^{1/2} f'(h(t)) f'(g(t))$$
To show this:

$$f(t) = (2\pi)^{1/2} f'(h(t)) f'(g(t))$$

$$To show this:
$$f(t) = \int_{-\infty}^{\infty} f(t-a) \frac{e^{-ibut} dt}{\sqrt{2\pi}}$$

$$let s = t-a$$

$$ds = dt$$

$$= \int_{-\infty}^{\infty} f(s) \frac{e^{-ibut} (stc)}{\sqrt{2\pi}} ds = e^{-ibut} \int_{-\infty}^{\infty} \frac{f(s)e^{-ibus}}{\sqrt{2\pi}} ds$$$$

$$= e^{-i\omega \pi} q^{2}(f(t)) , \text{ Now, use this in:}$$

$$S_{0} q^{2}(h(t)) = \frac{1}{|\nabla \pi|} \int_{0}^{\infty} dt e^{-i\omega t} \int_{0}^{t} f(t) g(t-t) dt$$

$$= \frac{1}{|\nabla \pi|} \int_{0}^{\infty} dt \int_{0}^{t} d\tau f(t) g(t-t) e^{-i\omega t}$$

$$= \int_{0}^{\infty} d\tau f(t) \hat{G}(\omega) e^{-i\omega \tau}$$

$$= \hat{G}(\omega) \int_{0}^{\infty} dt f(t) e^{-i\omega \tau} = \hat{G}(\omega) \sqrt{\varepsilon \pi} \hat{F}(\omega)$$

$$\therefore q^{2}(g*t) = \sqrt{2\pi} \hat{G}(\omega) \hat{F}(\omega)$$

Parsevel's Theorem (Energy Theorem)
$$\int_{-\infty}^{\infty} |f(t)|^2 dt = \int_{-\infty}^{\infty} d\omega |\dot{F}(\omega)|^2$$

i.e.
$$\int_{-\infty}^{\infty} \frac{dt}{f(t)} |_{0}^{2} dt = \int_{0}^{\infty} \frac{dt}{f(t)} |_{1}^{2} \frac{dt}{f(t)} = \int_{0}^{\infty} \frac{dt}{f(t)} |_{1}^{2} \frac{dt}{f(t$$